



SECTION 00300 – PROPOSAL

TO THE MAYOR AND COMMISSIONERS
CITY OF HOLLYWOOD, FLORIDA

SUBMITTED 10/15/2019

Dear Mayor and Commissioners:

The undersigned, as BIDDER, hereby declares that the only person or persons interested in the Proposal as principal or principals is or are named herein and that no other person than herein mentioned has any interest in this Proposal or in the Contract to be entered into; that this Proposal is made without connection with any other person, company or parties making a Bid or Proposal; and that it is in all respects fair and in good faith without collusion or fraud.

The BIDDER further declares that he has examined the site of the Work and informed himself fully in regard to all conditions pertaining to the place where the Work is to be done; that he has examined the Drawings and Specifications for the Work and contractual documents relative thereto, including the Notice to Bidders, Instructions to Bidders, Proposal Bid Form, Form of Bid Bond, Form of Contract and Form of Performance Bond, General, Supplementary and Technical Specifications, Addenda, Drawings, and MBE/WBE Program, Exhibit A-D, and has read all of the Provisions furnished prior to the opening of bids; and that he has satisfied himself relative to the work to be performed.

The undersigned BIDDER has not divulged to, discussed or compared his bid with other bidders and has not colluded with any other BIDDER of parties to this bid whatever.

If this Proposal is accepted, the undersigned BIDDER proposes and agrees to enter into and execute the Contract with the City of Hollywood, Florida, in the form of Contract specified; of which this Proposal, Instructions to Bidders, General Specifications, Supplementary Conditions and Drawings shall be made a part for the performance of Work described therein; to furnish the necessary bond equal to one hundred (100) percent of the total Contract base bid, the said bond being in the form of a Cash Bond or Surety Bond prepared on the applicable approved bond form furnished by the CITY; to furnish all necessary materials, equipment, machinery, tools, apparatus, transportation, supervision, labor and all means necessary to construct and complete the work specified in the Proposal and Contract and called for in the Drawings and in the manner specified; to commence Work on the effective date established in the "Notice to Proceed" from the ENGINEER; and to substantially complete all Contract Work as per Project Schedule of Section 00800, and stated in the "Notice to Proceed" or pay liquidated damages for each calendar day in excess thereof, or such actual and consequential damages as may result therefrom, and to abide by the MBE/WBE Program.

The BIDDER acknowledges receipt of the following addenda:

No. <u>1</u>	Dated <u>9/24/2019</u>
No. <u>2</u>	Dated <u>10/10/2019</u>
No. _____	Dated _____

And the undersigned agrees that in case of failure on his part to execute the said Contract and the Bond within ten (10) days after being presented with the prescribed Contract forms, the check or Bid Bond accompanying his bid, and the money payable thereon, shall be paid into the funds of the City of Hollywood, Florida, otherwise, the check or Bid Bond accompanying this Proposal shall be returned to the undersigned.

Attached hereto is a certified check on the

N/A Bank of N/A

or approved Bid Bond for the sum of

Thirty-two thousand eight hundred twenty-five Dollars (\$32,825.00) according to the conditions under the Instructions to Bidders and provisions therein.

NOTE: If a Bidder is a corporation, the legal name of the corporation shall be set forth below, together with signature(s) of the officer or officers authorized to sign Contracts on behalf of the corporation and corporate seal; if Bidder is a partnership, the true name of the firm shall be set forth below with the signature(s) of the partner or partners authorized to sign Contracts in behalf of the partnership; and if the Bidder is an individual, his signature shall be placed below; if a partnership, the names of the general partners.

WHEN THE BIDDER IS AN INDIVIDUAL:

(Signature of Individual)

(Printed Name of Individual)

(Address)

WHEN THE BIDDER IS A SOLE PROPRIETORSHIP OR OPERATES UNDER A TRADE NAME:

(Name of Firm)

(Address)

(Signature of Individual) (SEAL)

WHEN THE BIDDER IS A PARTNERSHIP:

(Name of Firm) A Partnership

(Address)

By: _____
(SEAL)
(Partner)

Name and Address of all Partners:

WHEN THE BIDDER IS A JOINT VENTURE:

(Correct Name of Corporation)

By: _____
(SEAL)
(Address)

(Official Title)

As Joint Venture
(Corporate Seal)

Organized under the laws of the State of _____, and authorized by the law to make this bid and perform all Work and furnish materials and equipment required under the Contract Documents.

WHEN THE BIDDER IS A CORPORATION:

Vortex Services, LLC.

(Correct Name of Corporation)

By: 
(SEAL)

EVP

(Official Title)

10200 US Hwy 92 E. Tampa, FL 33610

(Address of Corporation)

Organized under the laws of the State of Delaware, and authorized by the law to make this bid and perform all Work and furnish materials and equipment required under the Contract Documents.

CERTIFIED COPY OF RESOLUTION OF BOARD OF DIRECTORS

Vortex Services, LLC.
(Name of Corporation) Limited Liability Company

RESOLVED that [Signature] Wesley Kingery
(Person Authorized to Sign)

EVP of Vortex Services, LLC.
(Title) (Name of Corporation)

be authorized to sign and submit the Bid or Proposal of this corporation for the following project:

See Attached. CITY OF HOLLYWOOD, FLORIDA
INFLOW/INFILTRATION (I/I) PROGRAM - MANHOLE REPAIRS
PROJECT NO. 19-7101

The foregoing is a true and correct copy of the Resolution adopted by

_____ at a meeting of its Board of
(Name of Corporation)

Directors held on the _____ day of _____, 20_____.

By: _____

Title: _____

(SEAL)

The above Resolution MUST BE COMPLETED if the Bidder is a Corporation.

- END OF SECTION -

**SECTION 00301
PROPOSAL BID FORM**

Project Name: Inflow /Infiltration (I/I) Program - Manhole Repairs

Project No: 19-7101

If the proposal is accepted, the undersigned Bidder agrees to complete all work under this contract within 365 calendar days following the issuance of the Notice to Proceed. Provide a unit price for each line item. All entries on this form must be typed or written in block form in ink.

BASE BID:

CONTRACTOR MUST PROVIDE UNIT PRICE FOR EACH LINE ITEM

No.	Description	Qty	Units	Unit Price	Total
1	Realign, grout and seal manhole casting (in street)	10	EA	\$600.00	\$6,000.00
2	Realign, grout and seal manhole casting (in rear-yard easement)	10	EA	\$600.00	\$6,000.00
3	Seal visible infiltration through manhole walls, bench and, invert (brick manhole)	10	EA	\$50.00	\$500.00
4	Seal visible infiltration through manhole walls, bench and, invert (concrete manhole).	15	EA	\$50.00	\$750.00
5	Repair manhole bench and, invert	20	EA	\$275.00	\$5,500.00
6	Replace manhole bench and, invert	50	EA	\$300.00	\$15,000.00
7	Replace standard manhole frame and cover and, install seal.	10	EA	\$1,200.00	\$12,000.00
8	Replece watertight manhole frame and, cover and install seal.	10	EA	\$1,300.00	\$13,000.00
9	Install cementitious manhole liner for precast 4 - feet diameter manhole (in street)	100	V.F.	\$220.00	\$22,000.00
10	Install cementitious manhole liner for precast 4 - feet diameter manhole (in rear-yard easement)	150	V.F.	\$220.00	\$33,000.00
11	Install cementitious manhole liner for brick 4 - feet diameter manhole (in street)	100	V.F.	\$220.00	\$22,000.00
12	Install cementitious manhole liner for brick 4 - feet diameter manhole (in rear-yard easement)	150	V.F.	\$220.00	\$33,000.00
13	Install cementitious manhole liner for precast 5 - feet diameter manhole (in street)	50	V.F.	\$220.00	\$11,000.00
14	Install cementitious manhole liner for brick 5 - feet diameter manhole (in street)	50	V.F.	\$220.00	\$11,000.00
15	Install cementitious manhole liner for precast 6- feet diameter manhole (in street)	50	V.F.	\$220.00	\$11,000.00
16	Install cementitious manhole liner for brick 6 - feet diameter manhole (in street)	50	V.F.	\$220.00	\$11,000.00
17	Manhole Inspection Report	500	EA	\$30.00	\$15,000.00
18	Reinstall tack weld of manhole cover	10	EA	\$50.00	\$500.00
19	Undefined Allowance, cost allowance for work as directed by Engineer and upon authorization by the City of Hollywood Director of Public Utilities due to undefined conditions.	1	L.S.	\$100,000.00	\$100,000.00

BASE BID TOTAL FOR COMPLETE PROJECT

100,000.00

TOTAL BASE BID IN WRITING

\$328,250.00

SUBMITTED BY:

Vortex Services, LLC. 

NOTES:

1. REFER TO SECTION 01025 FOR ADDITIONAL DESCRIPTION OF ITEMS.
2. SUBSTANTIAL COMPLETION SHALL BE AS DEFINED IN THE PROJECT SCHEDULE IN THE SUPPLEMENTARY
3. CLOSEOUT SHALL BE COMPLETED WITH IN 365 DAYS FROM THE " NOTICE TO PROCEED".
4. THE CONTRACT SHALL BE BASED UPON THE SUM OF TOTAL BASE BID
5. WORK ORDERS WILL BE ISSUED AS PROBLEM AREAS ARE IDENTIFIED.

SECTION 00420

INFORMATION REQUIRED FROM BIDDERS

GENERAL INFORMATION

The Bidder shall furnish the following information. Failure to comply with this requirement may cause its rejection. Additional sheets shall be attached as required.

1. Contractor's Name/Address: Vortex Services, LLC. - 10200 US Hwy 92 E. Tampa, FL 33610

2. Contractor's Telephone Number: (813) 626-0700
and e-mail address: wkingery@vortexcompanies.com
3. Contractor's License (attach copy): See attaced.
Primary Classification: Underground Utility & Excavation Contractor
Broward County License Number (attach copy): N/A
4. Number of years as a Contractor in construction work of the type involved in this Contract: 13

5. List the names and titles of all officers of Contractor's firm:
Wesley Kingery - EVP
Benjamin Roese - VP
BJ Kerstiens - Area Manager
Mikah Williams - Area Manager
6. Name of person who inspected site or proposed work for your firm:
Name: Michael Prado
Date of Inspection: 9/18/2019

7. What is the last project of this nature you have completed?
Continuing Contract for Sanitary Sewer, Wetwell and/or Manhole Rehab Services in Clay County, FL

8. Have you ever failed to complete work awarded to you; if so, where and why?
No

9. Name three individuals or corporations for which you have performed work and to which you refer:

Brad Surrency - Pasco County, FL

Eric Ethers & Jon Yarbrough - City of Tallahassee, FL

Scott Pittman - Ajax Paving Industries

10. List the following information concerning all contracts on hand as of the date of submission of this proposal (in case of co-venture, list the information for all co-ventures).

Name of Project	City	Total Contract Value	Contracted Date of Completion	% Completion to Date
-----------------	------	----------------------	-------------------------------	----------------------

See attached.

(Continue list on inset sheet, if necessary)

11. What equipment do you own that is available for the work?
See attached.

12. What equipment will you purchase for the proposed work?

N/A

NOTE:

If requested by CITY, the Bidder shall furnish a notarized financial statement, references and other information, sufficiently comprehensive to permit an appraisal of its current financial condition.

N/A

LIST OF SUBCONTRACTORS

The Bidder shall list below the name and address of each Subcontractor who will perform work under this Contract in excess of one-half percent of the total bid price, and shall also list the portion of the work which will be done by such Subcontractor. After the opening of Proposals, changes or substitutions will be allowed with written approval of the City of Hollywood. Subcontractors must be properly licensed and hold a valid Hollywood Certificate of Competency.

	Work to be Performed	Subcontractor's Name / Address
1.	_____	_____
	_____	_____
2.	_____	_____
	_____	_____
3.	_____	_____
	_____	_____
4.	_____	_____
	_____	_____
5.	_____	_____
	_____	_____
6.	_____	_____
	_____	_____
7.	_____	_____
	_____	_____
8.	_____	_____
	_____	_____
9.	_____	_____
	_____	_____
10.	_____	_____
	_____	_____

NOTE: Attach additional sheets if required.

- END OF SECTION -

SECTION 00435

LOCAL PREFERENCE (EXHIBIT "A")

Pursuant to §38.50 of the City of Hollywood Code of Ordinances, the City shall grant a preference to local Hollywood vendors if their initial bid is within 5% of the bid of the lowest responsive responsible bidder that is a non-local Hollywood vendor. The preference shall allow the local Hollywood vendor to submit a second and final offer, which must be at least 1% less than the bid of the lowest responsive responsible non-local Hollywood vendor to be awarded. The local Hollywood vendor shall have the burden of demonstrating that it maintains a permanent place of business with full-time employees within the City limits and has done so for a minimum of one (1) year prior to the date of issuance of a bid or proposal solicitation within Hollywood, Florida. All supporting documentation (e.g. City of Hollywood valid local business tax receipt) for local preference eligibility must be received with the bid package prior to the bid opening date and time.

SECTION 00495

TRENCH SAFETY FORM

This form must be completed and signed by the Bidder.

Failure to complete this form may result in the bid being declared non-responsive.

Bidder acknowledges that the Florida Trench Safety Act, Section 553.60 et. seq., which became effective October 1, 1990, shall be in effect during the period of construction of the project. The Bidder by signing and submitting the bid is, in writing, assuring that it will perform any trench excavation in accordance with applicable trench safety standards. The Bidder further identifies the following separate item of cost of compliance with the applicable trench safety standards as well as the method of compliance:

Method of Compliance

Cost

Total \$ 1.00

Bidder acknowledges that this cost is included in the applicable items of the Proposal and in the Grand Total Bid Price. Failure to complete the above will result in the bid being declared non-responsive.

The Bidder is, and the Owner and Engineer are not, responsible to review or assess Bidder's safety precautions, programs or costs, or the means, methods, techniques or technique adequacy, reasonableness of cost, sequences or procedures of any safety precaution, program or cost, including but not limited to, compliance with any and all requirements of Florida Statute Section 553.60 et. seq. cited as the "Trench Safety Act". Bidder is, and the owner and Engineer are not, responsible to determine if any safety related standards apply to the project, including but not limited to, the "Trench Safety Act".

Catherine Corrigan
Witness Signature

Catherine Corrigan

Witness Printed Name

17 AD Asbury Road Greenville, SC 29605

Witness Address

10/15/2019

Date

Wesley Kingery
Contractor's Signature

Wesley Kingery

Printed Name

EVP

Title

10/15/2019

Date

- END OF SECTION -

Contracts on Hand

Name of Project	City	Total Contract Value	Contracted Date of Completion	% Completion to Date
Partial Basins Sewer Rehabilitation	Greenville, SC	\$5,199,739.85	8/2020	0%
Trenchless Stormwater Pipe Rehabilitation on Annual Contract	Gwinnett County, GA	\$10,500,000.00	9/2024	0%
FY19-FY20 Trenchless Sewer Rehabilitation	Mount Pleasant, SC	\$1,271,950.00	11/2020	1%
Sewer System Improvements	Oliver Springs, TN	\$4,144,484.00	6/2020	72%
Manhole Rehabilitation	Boca Raton, FL	\$92,455.00	1/2020	92%
FY19 Sanitary Sewer Manhole Rehab	Cocoa Beach, FL	\$150,000.00	2/2020	71%
Sanitary Sewer Manhole Rehabilitation Contract Renewal 5	Pinellas County, FL	\$366,916.50	7/2020	18%
Hank's Branch Sanitary Sewer Rehabilitation	Thomasville, NC	\$699,825.00	7/2020	0%
Railroad Stormwater Lining & Repair	Aiken, SC	\$934,149.00	6/2020	0%
Hillsborough County WORCS	Hillsborough County, FL	N/A	TBD	TBD
T7413	Tampa, FL	\$21,592.00	11/2020	19%
Hillsborough County WORCS	Hillsborough County, FL	N/A	TBD	TBD
Call #18 Bethelview Road	Cumming, GA	\$168,584.00	9/2020	0%
T2641	Seminole County, FL	\$196,590.00	5/2020	50%
Manhole Rehabilitation Group 4	Memphis, TN	\$980,000.00	12/2020	3%